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Reasoning (R) or Green Maths
What does it mean?
Reasoning is the skill of explaining. 

What does it look like in Year 5? – We use our reasoning every day!
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o Work out this missing e Rachel has £10. She spends | e [f 2541 is the answer, what's the question?
numbers: £6.49 at the shop. Would you - Can you create three addition
___ -92=145 use columnar subtraction to calculations?
work out the answer? Explain - Can you create three subtraction
740+ ___ =1039 why. calculations?
- Did you use a strategy?
_____=580-401 e True or False?
Are these number sentences | e Using 0-9 dice roll 3 at the same time to
e Peter bought boxes of true or false? 8.7+ 04 = create a number. Your partner needs to do

btract numbers
th increasingly
numbers.

Eg

crisps when they were on
offer. After 12 weeks, his
family had eaten 513
packets and there were
714 left. How many did he | o
buy?

Children follow a series of
instructions to find a
mystery number.

Start with 100.
Add 5000.
Take away 400.
Add 20.
Subtract 750.
What number have you

8.1
6.1-09=52
Give your reasons.

Which of the following

questions are easy and which

ones are hard?
213323-10=
512893 + 300 =
819354 - 200
319954 + 100 =

Explain why you think the hard
questions are hard.

the same.

- Who can add them together correctly first?
- Who can subtract the smallest from the
largest correctly first?

Use a calculator to check.

Kangchenjunga is the third highest
mountain in the world at 28,169 feet above
sea level. Lhotse is the fourth highest at
27,960 feet above sea level. Find the
difference in heights mentally.
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Calculate: e There are mistakes in the following e Find the missing numbers in
1638+ 2517 calculations. Explain the mistake and then these calculations.
4023- 2918 make a correction to find the correct
answer.
Julie has 1578 stamps, Heidi 3 4 1 D
has 2456 stamps. How many 2451 782 — 4 8 2
stamps do they have +562 -435 _—
altogether? Show how you can | 8071 353 2 9 2 |:| 4
check your answer using the
inverse. . - + 3475=624
What numbers go in the boxes? What
Adam earns £37,566 pounds a different answers are there? Convince me. 6 0 2 D
act whole year. His wife, Sarah, earns
nore than 4 £22 819 ayear. Howmuch do | e A five digit number and a four digit number + 5 5 1
ng using they earn altogether? They have a difference of 4365. Give me three |~ r—m
methods have to pay £7887 income tax possible pairs of numbers. D 9 180
?“";" and per year, how much are they
ion i is i 73
left with after this is taken off? o My answer is 5398, what's
the question?
- Create of 3 addition
calculations.
- Create 3 subtraction
questions.
- Did you use a strategy?
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Year 5

numbers to the nearest
a) 10 b)100 c) 1000
4821, 69243, 2781

e In 2013, there were
778803 births in the UK.
What is this to the
nearest 1000? Nearest
100007 Nearest
1000007

e InJuly 2015, the
population of the UK
was estimated to be
64881609. What is this
rounded to the nearest

All students
Fluency Reasoning Problem Solving
e Round the following A number rounded to the nearest 1000 is o Nathan thinks of a number. He says

54000. What is the largest possible number
this could be?

Round the number 259996 to the nearest

1000. Round it to the nearest 10000. What do
you notice about the answers? Can you think
of 3 more numbers where the same thing .
would happen?

True or False?

All numbers with a five in the tens column will
round up when rounded to the nearest 100
and 1000.

‘My number rounded to the nearest 10
is 1150, rounded to the nearest 100 is
1200 and rounded to the nearest 1000
is 1000." What could Nathan’s
number be?

Roll five dice; make as many 5 digit
numbers as you can from them. Round
each number to the nearest 10, 100,
1000 and 10,000. From your numbers,
how many round to the same 10, 100,
1000 or 10,0007

In pairs, take it in turns to roll (if
rounding to 10) two 0-9 dice. Create a
number from it and choose where it
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